Divide decimals by powers of ten

1. Divide the following decimal numbers unsing the index method.

\j_,, 44965 + 100 = 44965 + 102 d. 57139 + 1,000 =
| - | 0.44965 B

b. 39.006 + 100= . e. 6.543 +1000-=
€. 20153 + 10,000 = f. 0.00478 =10 =

2. In each case, tick the correct answer.

a. What will be the answer after dividing 347,240,001.59 by 1,000,000 ~

[ 3472.4000159 [ 347.24000159 [ 347,240.00159 [ 347240159
b. What will be the answer after dividing 20,153.721 by 104:? ,

020154721 020153721 O 20153721 O 20153721 | [0 2153721
C. What will be the answer after dividing 5,824.18 by 10,000 ?

‘D.O..58.241.8 | O 0.582318 | D 5.82418> | D 5k82.b41‘8 D O..’05;82418
d. ,What.wiAIII bé the answer after diQiding, 2,878.3 by 103 ?

Olopsrez | 0208783 | | [ 28733 [J 0.028783 [ 28.783
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Divide decimals by powers of ten

1. Divide the following decimal numbers using the index method.

a. v44;96"5 + 100 = 44.965 — 162 d. 57139 + 1,000 = 571.39 +W1Oj-3
‘= 0.44965 | | | | = 0541389
b, 39,006 + 100 = 39.006 + 102 e, B.543| +1,000/= 6543 + 103
= | 0.39006 | , || | = | 0.006543
| C; ,20.153 = 1Q,OOO = 20.1:53+ :104 f. :0.004:78+ 10 = 0.00478 :+1O1 |
= 0.0020153 | HER = | 0.000478

2. In each case, tick the correct answer.

a. What wilrl be the answer after diQiding 347,240,001.59 rby 1,000,000 ?

0] 3472.4000150 [ 34724000159 [ 34724000159 (] 347.240159
b. ‘What wiil be the answer after di\/iding. 20,153.721: by 104 3

D 20154721 O 2,01,5._3721 -0 20.153721 . m/2.0153:721 02153721
C. Whatiwilvl be the answer afte,f di;/iding 5,824.18 b;y 10,600 ?

m/o..582418 D 0.58323.18 D.5.82418. | D 58.2.:418 D O..C)582.418
d. Whatrwilhl be the answer aftef di;/idi,ng 2,878.3 by :103:?

] 0.28783 [J 208783 M/z.8783 [ o.028783 [ 28.783
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